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He came before Rav Nachman and he held him liable

OVERVIEW

The X3 relates that a person sold a donkey' to his friend; the purchaser stipulated
that he is traveling to a certain place, if he is able to resell it (there), fine (he will
pay for the purchase), and if he is not able to sell it, he will return it to the seller
(and not pay him).> On his return trip there was an o1, and the item was no
longer; 1211 27 ruled that the purchaser is liable to pay for the item.

nooIN asks:
- BNQ’ﬂh NIAT 9N NIT ¥NIYN NN NIYN NI711 N1

And it is astounding! It seems that this item was not eagerly sought after (not a

‘hot item’), since he was not able to sell it -
- “amn B NI XYY 125N ININ 19 ON)

So therefore since it was not a X5°711 X1°21, why did 1"7 hold him liable, for the

trip was for both their benefit -
- )9 ANIN YW NOYIN NI¥ATA NIN NPITN 299N PRT (2,85 97 “D9133 1359IN)

For the X773 states in 29971 '0 that the purchaser is not liable for an 013X unless
it is a X991 R1°21, so all the benefit is for the purchaser.

MooIN answers:
- 1390 N 7N 79907 1Y INIY DT NNY NYYY NN ONI NN NOYIN NIPATT 9010 v

' Others say, ‘wine’.

? This is commonly called (today) buying (or selling) on consignment.

? %91 K12y, literally means a sharp sale. It is an item which is eagerly sought after.

* A 9XW is 10182 21 but a w"w is not. The difference between a %X and a "W is that by a 95X the entire benefit
is for the X (the lender does not benefit); however by a w"w, both the owner and the w"w benefit (the owner’s item
is being watched [per his request], and the 1 is being paid). We transfer this idea regarding the 2rn of a np1? who
buys on consignment (or to inspect it) and there was an 01X, whether he is like a w"w (where both parties benefit, if
for instance it is difficult to sell the item) and therefore 1°0132 7wy, or if he is like a YR (where only the 117
benefits, for this item is a 89> R1°21, the owner does not need the 1> to sell it for him) and therefore o112 27n. In
our case, where it was not a X9°717 X121, the seller was also deriving benefit from the purchaser to help him sell the
item, therefore the 17 is like a w"w, and should not be liable for onx.

> See “Thinking it over’.

® When an item is eagerly sought after, the owner can sell it without difficulty; he is doing this np1> a favor by
offering it to him on consignment. The 117 in this case is similar to a PXW where 17w X317 92. However in our case
where it is not a X2>71 X121, why is the 10182 217 P19?!

7 When buying on consignment the seller sets a price ($100 for instance) if the buyer does not return the item he
must pay the seller $100. Here the seller could have found many customers for [slightly more than] a hundred
dollars, for it was a X917 X1°27.
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And one can say; that indeed it was a X971 81721, and if the 7?12 would want to

sell it for the price which the seller set,® he would find many customers -
— P12 99990 NN NN NON

But rather the % wanted to sell it for a (much) higher price.

mDoIN anticipates a question:
- 75195 157W 1129 1991 XYY N1

But why did he not sell it for as much as he could have —

mooin replies:
: 99 IR oo NN 1T 995 NMINIYI N2 NIAN GNY DIVN

Because he could certainly receive that price or even a higher price even when
he returns to (and before he reaches) the entryway to his house.

SUMMARY
The 1?17 is liable only when it is a 89°317 X1°21. An item is considered a X917 R1°27,
even if it sells easily only at a small profit margin.

THINKING IT OVER

The rule of ¥ X3°27 (to obligate the n1?) was said regarding one who purchases
an item (for himself), but wants to inspect it first."" If it was o1 during the
inspection the 1?1 is 217 only if it is a 89> ¥°21. We can argue that the case there
1s where it was inspected in the presence of the seller, and no credit was given,
therefore if it is not a X977 X1°27, then the seller and buyer are equally benefitting,
therefore in order to be 2> the n71> it needs to be a X5 17 X31°21, for then the P
benefits much more than the 12m. However when the item is given to the 17”12 on
consignment, even if it is not a 89> X121, since the 1Y% benefits much more than
the 191,"% in that case the n?> should be 2»n."

¥ It obviously means for slightly more than the price the 121 set. [Or perhaps it means the suggested price to sell it
in the market, but not the actual price which the n?? needs to pay the initial 231.]

? Once the np1» realized that he will not receive his higher price, he should have sold it at the (lower) market price
(for he would still realize a [small] profit). The fact that he did not sell it perhaps indicates that it is not a X2°717 X1°27!
' The np1> figures that he can always sell it at the (lower) market value on his return trip, even when he gets home,
and maybe on the way he will find someone who can pay him even more than the market value, therefore he is in no
rush to sell it.

' See footnote # 5.

2 See 2,7% 1mpY that (according to the X"¥2'X a HXW is 12w 7RI 217, not 19w 7RI 93,

" See o wo1.
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